328

dyr; mopcka muna =6090 (yra; 3 Mopekml wMumanm = liewe
KarTo M (pammyscku-Tel 1m0 20 ma 1 rpagych orh exBaropa.
Mtpr samosbrpxnoers: Axps = 484000 apwl, man

(=40 ¢p. apa -}~ 47 canriapa).

MBpst 3a sMberumocrn: Jacms = 2 tonma mam
= 10 xBaprepa (= 12000 gprrorpamma, mam = 1500 oxm).
Reapmeps = 8 Oymera (=8.15 Kblia Lapurpajekn, nim=—

2.9 exroantphi(; Gywens = 8 rartona. Bumms raxzons (raas-
Ha epmmmita) monbmasa BL cebe 277, 274 xyOmueck. jwiima
npbraens BOLX.

MBpn 3a rerao: Toproscrviic ynms mim qusps=—
16 ymuin (=150 gpamone); ywyia = 16 paxusi; Oparma
=24 rpana;ipans = (64.8 wmraurpavma). [Jenmneps =100
Tepr. gynra (= 38 okn); Touna = 20 uentnepa mam (=
979 xpLrorpaya, man = 764 okm).

Mownern: Dbpoiina-ra wonera, Dyums-cmepauns, ci-
abpikn 20 mmrmETa; wwaaums — 12 menca.

JJaTHa-Ta BENECTBCHHA MoHeTa, tuHea == (26.47 fpan-
ra; cyeepeins = 20 mmamnra (= 25.21 ¢p.).

Cptopua-ta moue-ra, kpoyns = (5.80 ¢p.); noayxpona
(= 2.90 wp); wurmwnrs (= 1.16 ¢p.) noaywuriunrs (=
0.58 ¢p.).

3. Pycckel mbpb.

Mbpw sa goammus: Muna=T7 Bepern; sepcms
500 camenn (=1.06 xerromerps): cagwcens = 7 (yrose
3 apmmna (=2.317 werps, mm =3.04 xaxrn); Phyms
12 moiima (=0.331 orp merpa, man 3.4142 pybose); drouns
=10 amnim; apwmuns = 16 pepmra (= 1 sakprs 4 1
Ipexs 11/.4 0Tb KpaTs).

Mbpu samosspxnocrs: Keadpamna sepcmp=500
><500 wim 250000 ) camenn; Keadpamna camncenv=—=3><3
win 9 ) apumna, nan 7><7=49 ) gyra; keadpamuniic fiyms
=12><12 mm 144 [ pwoiima. 3a m3wbpsanie semwn ymorpb-
OaBa ca Keadp. eepemb m OecAMuHA. [ecATHHA-TA CHALPRH
2400 [ camenst. Ta e paBHa Ha TAKHBL JPABOXRILICHD YeTBe-
POXIBIHUKD, Ha Kofi-To epma-ra crpama e 80, a jgpyra-ta 30
cakenn, Taka mo-10 80><30=2400 verBbpTHTH CcaKeHH.

MBpm 3a obemn: Rybuuecka canceny=—=7><7><7=
843 ryd. ¢yrose, mam 3><3><3=27 Ky0. apumua; Kyouu.
Pymo =12><12><12==1728 wyomy. poiiva; gybuu. 0wiims
=10><10><10=1000 xy6. amuiu.
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